&= B E 2 5

EOR 25 £ E
EREEARFISFMETE (GB25)




mARHBM®IETHREEERHAMESE

1 #
& AN (BAT : FM)
& RO # E #E gt
6 RIH& 344, 033 1,514 345, 547
10 # & & 2 96, 667 96, 669
m AN A& & 7, 165, 162 98, 181 7, 263, 343




(= )

= MR O £ % 7
1 BB R 95, 484 1,514 96, 998
10 EXZHE 5, 705 96, 667 102, 372
m b & & 7,165, 162 98, 181 7,263, 343




(Bf7 : FM)

w E #® o R
¥ E Bt
— & M R
B R X H 2 oo oK & Z it
1,514
96, 667
1,514 96, 667




2 B A

(&) 6 BEH4E 345,547 FH

(R 2 R#EB®E&
# H B FMERIOHE E ¥ Ei
6 REHE 344, 033 1,514 345, 547
2 REEe 301, 539 1,514 303, 053
2 REEFRE S & 296, 536 1,514 298, 050
#H 10 BES£ 9,669 FTH
(1) 1 &
b N H ] FIERTDHE E %8 &
10 s & 2 96, 667 96, 669
1 & 2 06, 667 96, 669
2 OB 1 96, 667 986, 668
= o] 8 HWIERIOEE IE % Bt
B2 A & # 7,165, 162 98, 181 7, 263, 343
(B BRI




(BT : FM)

i ]
X s 151
| B FAERAE 1,514 | BAABGERERfT& 2 5321 1,514
({RBREEE)
(B : M)
B B
= 4 iR
1 Dkt & 96, 667 | FOhiEEE 96, 667
(RRESE)
(Bf7 . TH)
i B
3 & #H




3 m H
# 1 B F 9698 TH
() 2 MEBRR
B EE O B E AR
= 1| B8 WEMOE | W E B E1d # T M R
— kR IR
HEXZHS& o & 0
1 BER 95, 484 1,514 96, 998 1,514
2 HE R 2, 455 1,514 3,969 1,514
1 R 2,455 1,514 3,969 1,514
1,514
F 10 #EXHE& 102,372 FH
(x7) 1 KERGEUEHMES
# FE #H o M BE A R
&= ® H WEMOHE | M E B i ¥ E M R
—i&RHR
BREZHE HF & 2K
10 FEEH& 5, 705 96, 667 102, 372 96, 667
1 KBER 5, 703 74, 870 80,573 74, 870
BAINRE
3k B & 3 74, 870 74,873 74, 870
74, 870
2 e 2 21, 797 21, 799 21, 797
1 —fR=3tR 1 21, 7197 21, 798 21, 797
H&
21, 797
#w FE & o B B N R
% I H #WEMOE | ¥ E B &t % E M K .
=R 4 7 E F Dy
m o Es E 7,165, 162 98, 181 7,263, 343 1,514 96, 667
(E EfEFEERSDSD




(A7 : FA)

#
) 89
© 5 7]
4 F K 178 | 7005 RBEHRI-ETIRE 1,514
TR & 1,336 (RBRESE)
4 HLER 178
W e B SRR 178
T RS 1, 336
WwrE L 1,336
(BERL : FF)
i
A ]
= a3 -
23 EEFITFRUS 3% 74,870 | 7028 RiB& 74, 870
(BrBRE &)
23 KEBSRFRUBREIHN 74, 870
ERE (E) 73, 693
RRE (Zoit) 1,177
2H H & 21,797 | 7031 —BEHBHS 21, 797
(R SE)
28 #HE 21, 797
~— kiR LS 21, 797
(BAr : T
i
kil BA
K 4¥ ]




